Meeting Tables HEFUUEEE

PARTHOS

EN Assembly scheme | DE Aufbauanleitung | FR Schema d'assemblage

0020 @XZ W % \

instructions.narbutas.com

MGOEOQ04 2023-12-13 111



Table without power unit

Q

Tisch ohne Stromversorgung
Table sans unité d'alimentation

d-x3

o= Do

M6x20 @ 8x30
M42C0103 M42H0001

MGOEOQ04 2/11



Table with power unit
Tisch mit Stromversorgung N

Table avec unité d'alimentation

d-x3 e-x1 f-x1
1m 3m
3’3" 9‘10“
g-x1

*
Cables length depends on order options. Assembly instruction

presents general case of cable management.

Kabelldnge abhangig von Bestelloptionen. Montageanleitung stellt
einen allgemeinen Fall des Kabelmanagements dar.

La longueur des cables dépend des options de commande. Les instructions
d'assemblage présente le cas général de la gestion des cables.

MGOEOO004 3/11



1m 2m 3'm "
3!3" 6'6“ 9 10

*
Amount and length of cables depend on order options. Assembly

instruction presents general case of cable management.

Anzahl und Lange der Kabel hangen von den Bestelloptionen ab. Die
Montageanleitung stellt einen allgemeinen Fall des Kabelmanagements dar.

La quantité et la longueur des cables dépendent des options de commande.
Les instructions de montage présentent un cas général de gestion des céables.

&

C(tJore C Do

M6x20 ®8x30
M42C0103 M42H0001

MGOEOO004 4/11



00

)

—0
0

(=] > >
o
&
% g
\“%\‘ "]
|
|
a < <l>
|
o < !
= f |
*
Remove the screws. Do not throw away, they will be required in later steps
Entfernen Sie die Schrauben. Bitte nicht wegwerfen, sie werden in spateren
\ 4 Schritten bendtigt.
N\ 1%
S | W= Retirez les vis. Ne les jetez pas, elles seront nécessaires dans les étapes

ultérieures.

T T r
\lil\‘lnl
g St

:

K
\
r®

MGOEOOQ04 5/11



Go to sptep 4
Fahren Sie mit Schritt 4 fort
Aller a I'étape 4

A =
A\

A\
\

n N——
D R

-z
_S_

!

e —

—
/

7

T==
A} N?
e = pmm—

2

1
]
1
1
1
1
I
I
I
|
I
1
|
i
\
1
\
\
\
\
e

Example of connecting optional cable h
Beispiel fir den Anschluss eines optionalen Kabels h

> e Exemple de connexion d'un cable optionnel A

MGOEOQ04 6/11



S o $
1
3
o
2 = ® |
I 1M
\\> S /f’/

For tightening use screws removed in the first step

Zum Festziehen verwenden Sie die im 1. Schritt entfernten

Schrauben
Pour le serrage, utilisez les vis retirées lors de la premiére

étape.

Before mounting top cover, take out cable. Only for tables with power unit (b case)
Vor der Montage der oberen Abdeckung bitte das Kabel herausnehmen. Nur fir Tische mit Stromversorgung (Fall B)

Avant de monter le couvercle supérieur, retirez le cable. Uniquement pour les tables avec unité d'alimentation (boitier b)

b

MGOEOQ04 7/11



5 (0@

@ 8x30
M42H0001

e (Yol

M6x20
M42C0103

MGOEOQ04 8/11



Fahren Sie mit Schritt 9 fort

Go to sptep 9
Aller a I'étape 4

fa

b

9/11

MGOEOQ04



MGOEOQ04

=

N

Connect power socket to cable before
installing table top

Schliel3en Sie die Steckdose an das Kabel
an, bevor Sie die Tischplatte montieren

Branchez la prise de courant au cable avant
d'installer le plateau de table

10/11



0 C_{(o)on
M6x20
M42C0103

Check the alignment
Uberpriifen Sie die Ausrichtung

Vérifier I'alignement

MGOEOQ04 11/11



	0.1
	Drawing View1

	a.
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View8

	b.1
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View12
	Drawing View15
	Drawing View16
	Drawing View99
	Drawing View104
	Drawing View105

	b.2
	Drawing View109
	Drawing View110
	Drawing View111

	1.-2.
	Drawing View17
	Drawing View18
	Detail View AE (1 : 3)
	Drawing View20
	Drawing View21
	Drawing View22

	3.
	Drawing View24
	Drawing View25
	Drawing View28
	Drawing View30
	Drawing View31
	Drawing View102
	Drawing View121

	4.
	Drawing View117
	Drawing View119
	Drawing View120
	Detail View AG (1 : 4)

	5.-6.
	Drawing View67
	Detail View AJ (1 : 2)
	Drawing View69
	Drawing View72
	Detail View AL (1 : 2)
	Drawing View76

	7.
	Drawing View55
	Drawing View56
	Drawing View92
	Drawing View93
	Drawing View94
	Drawing View95
	Drawing View122

	8b.
	Drawing View90
	Detail View AM (1 : 2.3)

	9.-10.
	Drawing View59
	Drawing View60
	Drawing View61
	Drawing View62
	Detail View AN (1 : 2.5)
	Drawing View79
	Drawing View80
	Drawing View85


